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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec’,
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3 0
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FRV (ml plant-1)

ET (ml/hr/plant)

P3_0, Day=50 (2025-05-25)

1¥1g VBERV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET
505

53

00

1444

00

TargetEC=2600. 0,  TargetSetEC=2080. 0

TargetPH=6. 5, TargetSetPH=6.5

0.0

200 -

100 A

1.0

ByWoFv

—_——————my———-

D50 02:00: ET=1444 Fg=1650.0 Ro=183.}\(

10

11

12

- 2000

- 1500

- 1000

cumET (ml/plant)

- 500

18

19

20

21

22

23

0.8 -

E3
B

E3
B

=
B

£33
B

E3
B

E3
B

=
B

£33
B

E3
]

E3
B

=
B

£33
B

E3
B

E3
B

0.6 1

0.4+

0.2~

0.0

800 A

600

400 -

200 ~

A A WarRing:

s, 'PPFD _obs'] is missing

25 -

20 -

15

"To_obs'] is missing

80 -

70

60

50 A

—— RH

Warning: col["RH obs’, " RHo obs"] is missY

0.2 0.4

0.6

0.8

1.

0



hour

100

80

- 60

- 40

’%
@ i
‘*@»
I
@
e
G%ﬁg
/&@(
A
2y
& T[]

T

R
2 P



P3
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large discrepency for begining water status (447:276.0), set to 447 ml
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